

$$a) Tf = \int_0^1 |f| e^{-t} dt = \int_0^1 |f| \frac{1}{2\sqrt{s}} ds = \int_0^1 |f(s)| g(s) ds$$

$t^2 = s$
 $t = \sqrt{s}$
 $dt = \frac{1}{2\sqrt{s}} ds$

(+4) $p \in [1, \infty)$, $T \in (L_p)^*$ $\Leftrightarrow g \in L_q$: Γ "repräsentiert sich" über

" \Rightarrow " $T \in (L_p)^*$ $\Rightarrow \exists h \in L_q$: $Tf = \int_0^1 f h$, $f \in L_p$

$\Rightarrow \forall f \in L_p$: $\int f g = \int f h$

$\Rightarrow \forall A \subset (0, 1)$: $\int_A g = \int_A h \Rightarrow g = h$ s.v. $\Rightarrow g \in L_q$

(+2) $T \in (L_p)^*$ $\Leftrightarrow g \in L_q \Leftrightarrow \int_0^1 (s^{-1/2})^q ds = \int_0^1 s^{-\frac{q}{2}} ds$ konvergenz \Leftrightarrow

$\Leftrightarrow \frac{q}{2} < 1 \Leftrightarrow q < 2 \Leftrightarrow p > 2$

$p < 2$ $\|T\|_{(L_p)^*} = \|g\|_{L_q} = \left(\int_0^1 \frac{1}{(2\sqrt{s})^q} ds \right)^{1/q}$

(+3) $p = \infty$: $|\int f g| \leq \|f\|_{\infty} \int |g| \Rightarrow \|T\| = \int_0^1 |g|$

$f \equiv 1 \Rightarrow Tf = \int_0^1 |g| \Rightarrow \|T\| = \int_0^1 \frac{1}{2\sqrt{s}} ds$

b) $Tf = if + f_1 \varphi(f)$, kde $f_1 |t| = t^2$, $\varphi_1(f) = \sqrt{f}$

$T_1 f = \varphi(f) f_1$ je proken $F(x) \leftarrow T = iI + T_1 \Rightarrow T \in C(T)$

T má: φ : každý ano, $\frac{T - T_1}{i} = I$ je φ km, por

$\lambda f = Tf = if + \varphi(f) f_1$

$(\lambda - i)f = \varphi(f) f_1 \Rightarrow \lambda = i$, $f \in \ker \varphi$ je vlastní vektor pro i

$\lambda = i + \frac{2}{3}$: $f = c f_1 \Rightarrow (\lambda - i)c f_1 = \varphi(c f_1) f_1 = c \frac{2}{3} f_1$

$\Rightarrow c f_1 (\lambda - i - \frac{2}{3}) = 0 \Rightarrow \begin{cases} c = 0 \rightarrow f = 0 \\ \lambda = i + \frac{2}{3}, c = 1 \Rightarrow f = f_1 \text{ je} \\ \text{vl. vektor pro } i + \frac{2}{3} \end{cases}$

$\Rightarrow \sigma_p(T) = \{i, i + \frac{2}{3}\}$

$\lambda \notin \sigma_p(T)$, $(\lambda I - T)f = g, g \in X$

$\lambda f - if - f_1 \varphi(f) = g$

$f(\lambda - i) = g + f_1 \varphi(f) \quad | \varphi$

$\varphi(f)(\lambda - i) = \varphi(g) + \frac{2}{3} \varphi(f)$

$\varphi(f)(\lambda - i - \frac{2}{3}) = \varphi(g) \Rightarrow f = \frac{1}{\lambda - i} \left(g + f_1 \frac{\varphi(g)}{\lambda - i - \frac{2}{3}} \right)$

$\Rightarrow \sigma(T) = \sigma_p(T)$